
NOTICE: THE INFORMATION CONTAINED ON THIS DRAWING IS
PROPRIETARY TO VERMEIREN GROUP AND SHALL NOT BE DISCLOSED IN
WHOLE OR IN PART, OR USED FOR ANY DESIGN OR MANUFACTURE,
EXCEPT WHEN SUCH USER POSSESSES DIRECT WRITTEN AUTHORISATION
FROM VERMEIREN GROUP

---

L55B Plan No.
E00069094/D�1.1

Scale: 1:3 Drafted Verified Confirmed
Date 18/10/2023 16/02/2024 16/02/2024

Initials PM PM AS

Bill of Material
No. Plan Article Quantity
1

2
3
4
5
6
7
8

10*
11*

12***

E00069095
E00069095
E00069095

Y011148
Y011987

M8x35 with cam
Nut M8

M8 DIN126 Black
Cap 15x15

Star knob M8x16
Y017183

M6x12 ISO7380 Black
EP00216

2998116 (gray soft)
2998117 (black soft)
2998118 (cordura)

1669754
1669854
1001526
1902024
1996214
1005899
2990024
1748154
3992768

2998018 (D25.4)
1913740 (D22)

1
1
1
6
1
3
3
3
1
1
1
4
1
1

* use with L34 backrest
** use with backrest pipes or with standard B90 pipe

12**
VERMEIREN

1

22

3

4

4

5

5

6

6

8

7

10*

11*

11*


